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6% K O £ o b & M meg/L | 0.01 — —
Tl & k O 2 o b & ¥ me/L | 0.01 — —
8N i 7 m & fb & ¥ me/l | 0.02 — —
9 [ w5 M & = FE| mgL | 0.04 — —
107 A4 kAL T mg/L | 0.01 — —
11 |fH B2 Re %2 38 K& OVl AY MR B =€ | me/L 10 — —
1217 v % & 0" 2 © b & ¥| me/L 0.8 — —
Bl v F K 2 oA B mgL | 1.0 — —
14 {19 i) 1t 1% F#| me/L | 0.002 — —
1511,4- % 7 e va > mg/L | 0.0b — —
6 2 R T Y e (000 — —
71y 7 = v A & v mg/L | 0.02 — —
87 7 7 m v = F L v mgL |0.01 — —
9 ¥V 7 v v = F L ¥ mgL |0.01 — —
20 | Ve + > mg/L | 0.01 — —
21 |3 ES el mg/L | 0.6 — —
22|17 = = P f2| mg/L | 0.02 — —
237 o I R V% Al mg/L | 0.06 — —
241~ 7 = =2 HE B2 me/L | 0.03 — —
25 7 v 2 7 mom XA & U mgL | 0.1 — —
26 | = # izl mg/L. | 0.01 — —
27T~ U o |m A X | mg/L 0.1 — —
28 U 7 & =2 e | me/L | 0.03 — —
29|17 v ® v 7 vnmw A % ¥ mgL |0.03 — —
307 = £ AR JV L mg/L | 0.09 — —
3| x v &~ 7 v F B K|l mg/L |0.08 — —
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6|7V A Kk OE DA W me/l | 200 — —
3Tl v H v K V% © it & #| meg/L | 0.05 — —
38 |i& e Y A 7 > mg/L 200 12 12
9 vn, v 72y A% (8 E)| mg/L 300 — —
40 |7 s b33 & | me/l | 500 — —
412 4 & » Fom & M A me/ | 0.2 — —
42 |¥ £ % A 2 | me/L | 0.00001 — 0.000001 A¥i
4312 — A F v A4 VR v % A — | mg/L | 0.00001 — 0.000001 A3
4018 4 & » Fom & M Al me/L | 0.02 — —
45 |7 - J — Jb ¥H| me/L | 0.005 — —
46|15 H # ( TOC @ & )| me/L 3 1.2 1.0
47| H fi R B 7.2
48 uk PO BmEaRL | BERL
49 |5 K RO BmERL | Bl
50 | | 5 LA IE ST
51 | L 2 014 | 0. 1A
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